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展開

しらみつぶし（パラパラ）でも何ででもやってみよう 練習問題

解答編

Ⅰ．次の式を展開しなさい。

① （x＋ a)(x＋ b） ＝ x ２＋ bx＋ ax＋ ab

② （x＋２)(x＋３） ＝ x ２＋３ x＋２ x＋６＝ x ２＋５ x＋６

③ （x－ a)(x＋ b） ＝ x ２＋ bxー axー ab

④ （２ x－２)(３ x＋５） ＝６ x ２＋１０ x－６ x－１０
＝６ x ２＋４ x－１０

⑤ （２ a＋ b)(a＋３ b） ＝２ a ２＋６ ab＋ ab＋３ b ２

＝２ a ２＋７ ab＋３ b ２

⑥ （x－２ a)(x－３ a） ＝ x ２－３ ax－２ ax＋６ a ２

＝ x ２－５ ax＋６ a ２

⑦ （５ x＋２)(x－５） ＝５ x ２－２５ x＋２ x－１０
＝５ x ２－２３ x－１０

⑧ （３ x－２)(x－３） ＝３ x ２－９ x－２ x＋６
＝３ x ２－１１ x＋６

⑨ （x－６)(４ x－７） ＝４ x ２－７ x－２４ x＋４２
＝４ x ２ー３１ x＋４２

⑩ （x＋９)(x＋３） ＝ x ２＋３ x＋９ x＋２７
＝ x ２＋１２ x＋２７

⑪ （x＋８)(x－４） ＝ x ２－４ x＋８ x－３２
＝ x ２＋４ x－３２

⑫ （x－１)(x＋２） ＝ x ２＋２ xー x－２
＝ x ２＋ x－２

Ⅱ．次の式を展開しなさい。

① （x＋３)(x－４） ＝ x ２－４ x＋３ x－１２
＝ x ２ー x－１２

② （m－ n)(m－２ n） ＝m ２－２mnーmn＋２ n ２

＝m ２－３mn＋２ n ２

③ （x－ b)(x＋ b） ＝ x ２＋ bxー bxー b ２

＝ x ２ー b ２

④ （２ x－８)(x＋６） ＝２ x ２＋１２ x－８ x－４８
＝２ x ２＋４ x－４８

⑤ （x＋ y－８)(y＋３） ＝ xy＋３ x＋ y ２＋３ y－８ y－２４
＝ xy＋３ x＋ y ２－５ y－２４

⑥ （a－５)(a＋ b－３） ＝ a ２＋ ab－３ a－５ a－５ b＋１５
＝ a ２＋ ab－８ a－５ b＋１５

⑦ （２ x－ y－７)(x＋１） ＝２ x ２＋２ xー xyー y－７ x－７
＝２ x ２－５ xー xyー y－７

⑧ （３m－２)(２m＋ n－１）
＝６m ２＋３mn－３m－４m－２ n＋２
＝６m ２＋３mn－７m－２ n＋２

⑨ （x ２－２ x－１)(x＋５） ＝ x ３＋５ x ２－２ x ２－１０ xー x－５
＝ x ３＋３ x ２－１１ x－５


